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M.Com. (Previous) Examination, May/June 2011
COMMERCE (SIM)
Paper — V : Human Resources Management

Time : 3 Hours Max. Marks : 90

PART - A

Answer any three questions. Each question carries 15 marks. (3x15=45)

. What do you mean by HRM ? Explain its role under modern business.

. “Effective Human resources management depends upon sound reward system”.

Comment.

. What is political and legal environment ? State its role in modern Human resources

management practices.

. What do you mean by job analysis ? Explain techniques of job analysis.

. What is recruitment ? Describe policies of recruitment.

PART - B

Answer any three questions. Each question carries 10 marks. (3x10=30)

6.

10.

“Performance appraisal is a tool in the hands of HR manager to manage employees”
— Comment.

. What is Human resources development ? Explain its role under changing business

environment.

. What is training ? Explain reasons responsible for training.

. What do you mean by total quality management ? Explain its role in modern

business.

Write a detail note on disciplinary action.

PART - C

Answer any three sub-questions. Each carries § marks. (3x5=15)

11.

a) Compensation b) Trade union
c¢) Career planning d) Social security
e) Corporate strategies. P.T.O.
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